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By 3% 4 Fn044£08 H 02 H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

IENE AbE 10. 00| AHxf 100 1,000| 1,728| 1,631| 1,620
H X k¥ 15. 00 | ¥ 796 11, 940 756 462 216
X 5D FiE 10. 00| AH%F 250 2,500| 1,048 892 432
E 9 NAE E B 4. 00| AH%F 48 192| 4,687| 3,978 3,348
H % i 3. 00| FHxf 130 3901 1,458 1,083 648
i A ] 1L 1. 00| FHxf 275 275 432 330 270
= 1| 5.00 Mixk| i3l 65| 1,944| 1,819] 1,350

A w5 5. 00 | FHx} 228 1,140 1,944 1,688 972
ENIE 0.50| fxt| 1,889 o47|  162| 120 86

= m | 0.40|#A%t| 1,460 534| 151 133 86

= =% 4. 00| FH%f 722 2,888 1,620 1,179 864
[N 5 5. 00| FHxf 99 495 1,296 956 756
EN R 5.00 faxt|  s60| 2,800 1,512| 1,116] 756

v—< = 0. 15| FHx} 4, 883 734 59 54 43
A7 k= b AbiEiE 3. 00| FH%f 499 1,497 2,592 1,863| 1,188
fEoT & AL E 0. 10| FHx} 180 18 184 164 162
= m | o.00[#A%t| 20 20| 1,620 1,001 648

o= I i 0. 50| A%F 453 227 270 266 146
H 7% w5 5. 00| FH%f 211 1,055| 2,160| 1,923| 1,404
RenE AbiEiE 10. 00| AHxf 41 410\ 1,674 1,573| 1,188
E F AbiEiE 10. 00| AHxf 635 6,350 3,024 2,876| 1,944
£ # & OE 10. 00| AHxf 799 7,990 2,160 1,976 1,512
LA A £ ¥ 10. 00| FA % 1, 200 12, 000 1,188 968 540
P=—1L & £ ¥ 4, 00| FH*} 426 1, 704 1,188 738 432
T ARG F ) 0. 10| FHf 1, 582 161 216 83 65
Tuyal— E B 4. 00| AH%F 111 444| 2,376 2,210| 1,944
L xHn & A 4. 00 | FHxF 6 24| 3,024| 2,556| 1,620
AEMEE (i 0. 10| #Hxf | 6, 100 610 140 106 54
ZDEH £ ¥ 0. 20 [ #H %} 600 120 43 14 11
AA fa—yv £ ¥ 5. 00 | #H %} 386 1,930 1,685 1,414| 1,080




ID:1210 pP- 2

P g SR
2 W B #E7E Boal R
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fn 4 JE Hit ®H | R | EK El=E 4 e HfiE g2y ]

Yafa— H & 10. 00 | #H%f 845 8, 450 5, 067

=K w5 10. 00| AHxf 120 1,200| 8,316| 6,879| 5,400

Bk A4 5. 00 | FHxt 354 1,770 2,484 2,054

Eolg KK 0. 35 | #Hx%f 80 29 508 412 378

B A — 3 1L 2. 00| FHxf 38 76| 3,780 881

%= A4 0.50| #H%f | 1,000 500 419 395 378




